
Turkish Journal of
INEQUALITIES

Available online at www.tjinequality.com

**NEW APPROACH TO NESTED FUNCTIONS, SOME INEQUALITIES
AND NEW RESULTS**

SEYYED HOSSEIN JAFARI PETROUDI¹, CHOONKIL PARK², AND ARSALAN HOJJAT ANSARI^{3,4,5}

ABSTRACT. This work focuses on H and T nested functions T_{pj} and H_{pj} . We define particular nested functions based on the nested functions T_{pj} and H_{pj} and study peculiar properties of them. We propose some identities and prove important trigonometric and hyperbolic inequalities relating to these nested functions. In order to highlight the results, we give several examples.

1. INTRODUCTION

Inequalities are one of the most important topics that have received significant attention in mathematics, and much research has been conducted in this field (see [3–8]). In this work, as the special case of Mittag-Leffler functions, we consider H and T nested functions T_{pj} and H_{pj} and we will investigate several identities about these nested functions. Also, we define new nested functions based on T_{pj} and H_{pj} . We give inequalities and identities related to these new nested functions. Also, we give some counter examples to one of the important theorems of paper [6].

For more information about hyperbolic functions, nested functions and some kinds of generalizations of these functions, we refer to [5] and [7–12].

We start this section by definitions of T_{pj} and H_{pj} and give some properties of these special functions.

Definition 1.1. [1,2] H and T nested functions $T_{pj}, H_{pj} : \mathbb{R} \rightarrow \mathbb{R}$, $j = 0, 1, 2, \dots, p-1$, $p \in \mathbb{N}$, are defined respectively, as follows:

$$T_{pj}(t) = \sum_{n=0}^{\infty} \frac{(-1)^n t^{pn+j}}{(pn+j)!}, \quad H_{pj}(t) = \sum_{n=0}^{\infty} \frac{t^{pn+j}}{(pn+j)!}.$$

Key words and phrases. Mittag-Leffler functions, Nested Functions, Inequality.

2010 *Mathematics Subject Classification.* Primary: 33E12, 26D15. Secondary: 33B10.

Received: 17/04/2025 *Accepted:* 15/06/2025.

Cite this article as: S. H. J. Petroudi, C. Park, A. H. Ansari, New Approach to Nested Functions, Some Inequalities and New results, Turkish Journal of Inequalities, 9(1) (2025), 49-60.

Theorem 1.1. [1] For each $t \in \mathbb{R}$, following identities are valid:

$$\begin{aligned} T'_{p\ 0}(t) &= -T_{p\ p-1}(t), & H'_{p\ 0}(t) &= H_{p\ p-1}(t), \\ T'_{p\ 1}(t) &= T_{p\ 0}(t), & H'_{p\ 1}(t) &= H_{p\ 0}(t), \\ &\vdots & &\vdots \\ T'_{p\ p-1}(t) &= T_{p\ p-2}(t), & H'_{p\ p-1}(t) &= H_{p\ p-2}(t). \end{aligned}$$

Remark 1.1. [2] Let $\lambda^p = 1, \lambda \neq 1, w^p = -1, w \neq -1$, we have

$$\begin{aligned} T_{p\ 0}(t) &= \frac{\sum_{j=0}^{p-1} e^{w^j t}}{p}, j = 0, 1, \dots, p-1, \\ T_{p\ 1}(t) &= \frac{\sum_{j=0}^{p-1} w^{p-j} e^{w^j t}}{p}, j = 0, 1, \dots, p-1, \\ &\dots \\ T_{p\ p-1}(t) &= \frac{\sum_{j=0}^{p-1} w^j e^{w^j t}}{p}, j = 0, 1, \dots, p-1, \\ H_{p\ 0}(t) &= \frac{\sum_{j=0}^{p-1} e^{\lambda^j t}}{p}, j = 0, 1, \dots, p-1, \\ H_{p\ 1}(t) &= \frac{\sum_{j=0}^{p-1} \lambda^{p-j} e^{\lambda^j t}}{p}, j = 0, 1, \dots, p-1, \\ H_{p\ 2}(t) &= \frac{\sum_{j=0}^{p-1} \lambda^{p-2j} e^{\lambda^j t}}{p}, j = 0, 1, \dots, p-1, \\ &\dots \\ H_{p\ p-1}(t) &= \frac{\sum_{j=0}^{p-1} \lambda^j e^{\lambda^j t}}{p}, j = 0, 1, \dots, p-1. \end{aligned}$$

For example, for $p = 3$, we find that

$$\begin{aligned} H_{3\ 0}(t) &= \frac{e^t + e^{\lambda t} + e^{\lambda^2 t}}{3}, \\ H_{3\ 1}(t) &= \frac{e^t + \lambda^2 e^{\lambda t} + \lambda e^{\lambda^2 t}}{3}, \\ H_{3\ 2}(t) &= \frac{e^t + \lambda e^{\lambda t} + \lambda^2 e^{\lambda^2 t}}{3}. \end{aligned}$$

Remark 1.2. [2] Also, for $p = 3$, we have, $w^p = -1, w \neq -1$, and the following identities are valid:

$$\begin{aligned} T_{3\ 0}(t) &= \frac{e^{-t} + e^{wt} + e^{-w^2 t}}{3}, \\ T_{3\ 1}(t) &= \frac{-e^{-t} - w^2 e^{wt} + w e^{-w^2 t}}{3}, \\ T_{3\ 2}(t) &= \frac{e^{-t} - w e^{wt} + w^2 e^{-w^2 t}}{3}. \end{aligned}$$

Definition 1.2. The functions ${}_p \tan_{ij}, {}_p \tanh_{ij} : \mathbb{R} \rightarrow \mathbb{R}$, $i, j = 0, 1, 2, \dots, p-1$, $p \in \mathbb{N}, i \neq j$ are defined respectively, as follows:

$${}_p \tan_{ij}(t) = \frac{T_{pi}(t)}{T_{pj}(t)}, \quad {}_p \tanh_{ij}(t) = \frac{H_{pi}(t)}{H_{pj}(t)}.$$

For example for $i = 1$ and $j = 0$, we get

$${}_p \tan_{10}(t) = \frac{T_{p1}(t)}{T_{p0}(t)}, \quad {}_p \tanh_{10}(t) = \frac{H_{p1}(t)}{H_{p0}(t)}.$$

Remark 1.3. By the use of Remark (1.1), for $p = 3$, we obtain the following identities:

$$\begin{aligned} {}_3 \tan_{10}(t) &= \frac{H_{31}(t)}{H_{30}(t)} = \frac{e^t + \lambda^2 e^{\lambda t} + \lambda e^{\lambda^2 t}}{e^t + e^{\lambda t} + e^{\lambda^2 t}}, \\ {}_3 \tanh_{21}(t) &= \frac{H_{32}(t)}{H_{31}(t)} = \frac{e^t + \lambda e^{\lambda t} + \lambda^2 e^{\lambda^2 t}}{e^t + \lambda^2 e^{\lambda t} + \lambda e^{\lambda^2 t}}, \\ {}_3 \tanh_{02}(t) &= \frac{H_{30}(t)}{H_{32}(t)} = \frac{e^t + e^{\lambda t} + e^{\lambda^2 t}}{e^t + \lambda e^{\lambda t} + \lambda^2 e^{\lambda^2 t}}. \end{aligned}$$

Lemma 1.1. For each $x \neq 0$, the following inequalities hold:

$$\begin{aligned} \frac{{}_p \tanh_{10}(x)}{x} &< 1 \quad \text{and} \quad \frac{H_{p1}(x)}{x} > 1, \\ \frac{{}_p \tanh_{ii-1}(x)}{x} &< 1, \quad i = 0, 1, 2, \dots, p-1. \end{aligned}$$

According to the above mentioned results, for $x > 0$ we have,

$$(1 + p H_{p0}(x)) \sum_{n=1}^{\infty} \frac{x^{pn}}{(pn+1)!} + 1 - H_{p0}(x) > 0.$$

That is,

$$(1 + p H_{p0}(x))(H_{p1}(x) - x) > x(H_{p0}(x) - 1).$$

So, we get

$$(1 + p H_{p0}(x))H_{p1}(x) > (1 + p)x H_{p0}(x).$$

The following lemmas are essential for the next sections.

Lemma 1.2. [10] Let $-\infty \leq u < v \leq \infty$ and p and q be continuous functions that are differentiable on (u, v) , with $p(u+) = q(u+) = 0$ or $p(v-) = q(v-) = 0$. Suppose that $q(z)$ and $q'(z)$ are nonzero for all $z \in (u, v)$. If $p'(z)/q'(z)$ is increasing (or decreasing) on (u, v) , then $p(x)/q(x)$ is also increasing (or decreasing) on (u, v) .

Definition 1.3. [6] The function f is superadditive on an interval I , if for every $x, y \in I$,

$$f(x+y) \geq f(x) + f(y).$$

The function f is subadditive on an interval I , if for every $x, y \in I$,

$$f(x+y) \leq f(x) + f(y).$$

Lemma 1.3. [6] If a function $\frac{p(x)}{x}$ is increasing or decreasing on an interval I , then $p(x)$ is superadditive or subadditive on I respectively.

2. SOME PROPERTIES OF THE Hi INTEGRAL

In this section, we study some properties of the nested function Hi by using an integral method. We prove that, in some conditions, Hi is monotonic and supperadditive. Also, we establish some inequalities related to this particular nested function and give various examples. We start this section with the definition of the function $H_{c_p-i}(z)$, which generalizes the cardinal hyperbolic sine function as defined in [6].

Definition 2.1. The function H_{c_p-i} is defined as follows:

$$H_{c_p-i}(z) = \begin{cases} \frac{H_{p-i}(z)}{z^i}, & z \neq 0 \\ 1, & z = 0. \end{cases}$$

According to the following definition, we introduce a generalization of the hyperbolic sine integral function as described in [6].

Definition 2.2. The function Hi_{p-i} is defined as follows:

$$Hi_{p-i}(z) = \int_0^1 \frac{H_{p-i}(zt)}{t^i} dt, i = 1, 2, \dots, p-1, (z > 0). \quad (2.1)$$

So, we get

$$Hi_{p-i}(z) = \int_0^1 \frac{\sum_{n=0}^{\infty} \frac{z^{pn+i} t^{pn+i}}{(pn+i)!}}{t^i} dt = \int_0^z \sum_{n=0}^{\infty} \frac{z^{pn+i} t^{pn}}{(pn+i)!} dt = \sum_{n=0}^{\infty} \frac{z^{pn+i}}{(pn+1)(pn+i)!}. \quad (2.2)$$

Example 2.1. According to the Relation (2.2), for $p = 3$ we have the following identities:

$$\begin{aligned} Hi_{3-1}(z) &= \int_0^1 \frac{H_{3-1}(zt)}{t} dt = \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)(pn+1)!}, \\ Hi_{3-2}(z) &= \int_0^1 \frac{H_{3-1}(zt)}{t^2} dt = \sum_{n=0}^{\infty} \frac{z^{pn+2}}{(pn+1)(pn+2)!}. \end{aligned}$$

Based on the relation (2.1), the derivatives of $Hi_{p-i}(z)$ are obtained by the following corollary.

Corollary 2.1. *The following identities are valid:*

$$\begin{aligned} Hi_p^{(j)}(z) &= \int_0^1 \frac{H_p^{(j)}(zt)}{t^i} dt = \int_0^1 t^{j-i} H_{p-i-j(i-j \equiv p0)}(zt) dt, \\ Hi_p^{(i)}(z) &= \int_0^1 H_{p-0}(zt) dt, \\ Hi_p^{(p)}(z) &= \int_0^1 t^{p-i} H_{p-0}(zt) dt, \\ Hi_p^{(p+1)}(z) &= \int_0^1 t^{p+1-i} H_{p-p-1}(zt) dt, \\ Hi_p^{(p+2)}(z) &= \int_0^1 t^{p+2-i} H_{p-p-2}(zt) dt, \end{aligned}$$

$$Hi_p^{(p+3)}(z) = \int_0^1 t^{p+3-i} H_{p-p-3}(zt) dt.$$

Remark 2.1. From Corollary 2.1, we obtain the following identity.

$$Hi_p^{(i)}(z) = \int_0^1 H_{p-0}(zt) dt = \frac{H_{p-1}(z)}{z}.$$

Example 2.2. The following identities are valid:[6]

$$\begin{aligned} Hi_2^{(1)}(z) &= \int_0^1 H_{2-0}(zt) dt = \frac{H_{2-1}(z)}{z}, \\ Hi_2^{(2)}(z) &= \int_0^1 t H_{2-1}(zt) dt = \frac{H_{2-0}(z)}{z} - \frac{1}{z} \int_0^1 H_{2-0}(zt) dt \\ &= \frac{H_{2-0}(z)}{z} - \frac{H_{2-1}(z)}{z^2}. \end{aligned}$$

Example 2.3. Based on the relation (2.2), for $p = 3$, we get the following identities:

$$\begin{aligned} Hi_3(1)(z) &= \int_0^1 \frac{H_{3-1}(zt)}{t} dt, \\ Hi_3^{(1)}(z) &= \int_0^1 H_{3-0}(zt) dt, \\ Hi_3^{(2)}(z) &= \int_0^1 t H_{3-2}(zt) dt, \\ Hi_3^{(3)}(z) &= \int_0^1 t^2 H_{3-1}(zt) dt. \end{aligned}$$

Example 2.4. Derivative of $Hi_3(1)$ for $j = 1, 2, 3$ are given by:

$$\begin{aligned} Hi_3^{(1)}(z) &= \int_0^1 H_{3-0}(zt) dt = \frac{H_{3-1}(z)}{z}, \\ Hi_3^{(2)}(z) &= \int_0^1 t H_{3-2}(zt) dt = \frac{H_{3-0}(z)}{z} - \frac{1}{z} \int_0^1 H_{3-0}(zt) dt \\ &= \frac{H_{3-0}(z)}{z} - \frac{H_{3-1}(z)}{z^2}, \\ Hi_3^{(3)}(z) &= \int_0^1 t^2 H_{3-1}(zt) dt \\ &= \frac{H_{3-2}(z)}{z} - \frac{2 H_{3-0}(z)}{z^2} + \frac{2 H_{3-1}(z)}{z^3}. \end{aligned}$$

Example 2.5. Derivative of $Hi_3(2)$ for $j = 1, 2, 3$ are given by:

$$\begin{aligned} Hi_3(2)(z) &= \int_0^1 \frac{H_{3-2}(zt)}{t^2} dt, \\ Hi_3^{(1)}(2)(z) &= \int_0^1 \frac{H_{3-1}(zt)}{t} dt, \\ Hi_3^{(2)}(2)(z) &= \int_0^1 H_{3-0}(zt) dt, \\ Hi_3^{(3)}(2)(z) &= \int_0^1 t H_{3-2}(zt) dt. \end{aligned}$$

Example 2.6. The following identities are valid:

$$\begin{aligned}
Hi_3^{(2)}(z) &= \int_0^1 H_{3-0}(zt) dt = \frac{H_{3-1}(z)}{z}, \\
Hi_3^{(3)}(z) &= \int_0^1 t H_{3-2}(zt) dt = \frac{H_{3-0}(z)}{z} - \frac{1}{z} \int_0^1 H_{3-0}(zt) dt \\
&= \frac{H_{3-0}(z)}{z} - \frac{H_{3-1}(z)}{z^2}, \\
Hi_3^{(4)}(z) &= \int_0^1 t^2 H_{3-1}(zt) dt \\
&= \frac{H_{3-2}(z)}{z} - \frac{2 H_{3-0}(z)}{z^2} + \frac{2 H_{3-1}(z)}{z^3}.
\end{aligned}$$

Remark 2.2. According to the definition of $Hi_3(z)$, for $z > 0$, we have

$$Hi_3^{(4)}(z) > 0.$$

Thus, by Example 2.6, we have the following inequality,

$$z > 0 \implies \frac{H_{3-2}(z)}{z} - \frac{2 H_{3-0}(z)}{z^2} + \frac{2 H_{3-1}(z)}{z^3} > 0.$$

Theorem 2.1. *The function $Hi_3(z)$ is superadditive on $(0, \infty)$. That is, the inequality*

$$Hi_3(u+v) > Hi_3(u) + Hi_3(v),$$

holds for $u > 0$ and $v > 0$.

Proof. Let $L(z) = \frac{Hi_3(z)}{z}$ for $z > 0$. Then, by Definition 2.2, we have,

$$\begin{aligned}
z^2 L^{(1)}(z) &= z Hi_3^{(1)}(z) - Hi_3(z) \\
&= H_{3-1}(z) - \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)(pn+1)!} \\
&= \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)!} - \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)(pn+1)!} > 0.
\end{aligned}$$

Hence, $L(z)$ is increasing. Now, by applying Lemma 1.3, we get the result. □

Theorem 2.2. *The function $Hi_3(z)$ is superadditive on $(0, \infty)$. That is, the inequality*

$$Hi_3(u+v) > Hi_3(u) + Hi_3(v),$$

holds for $u > 0$ and $v > 0$.

Proof. Let $L(z) = \frac{Hi_{3-2}(z)}{z}$ for $z > 0$. Then by Definition 2.2, we have,

$$\begin{aligned} z^2 L^{(1)}(z) &= z Hi_{3-2}^{(1)}(z) - Hi_{3-2}(z) \\ &= z \int_0^1 \frac{Hi_{3-1}(zt)}{t} dt - \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)(pn+2)!} \\ &= z \sum_{n=0}^{\infty} \frac{z^{pn+1}}{(pn+1)(pn+1)!} - \sum_{n=0}^{\infty} \frac{z^{pn+2}}{(pn+1)(pn+1)!} \\ &= \sum_{n=0}^{\infty} \frac{z^{pn+2}}{(pn+1)(pn+1)!} - \sum_{n=0}^{\infty} \frac{z^{pn+2}}{(pn+1)(pn+2)!} > 0. \end{aligned}$$

Hence, $L(z)$ is increasing. Now, by using Lemma 1.3, we get the result. $\square$

Theorem 2.3. *The inequality*

$$Hi_{3-1}(u) + Hi_{3-1}(v) > u + v,$$

holds for $u, v > 0$ and the inequality

$$\frac{Hi_{3-1}(u)}{Hi_{3-1}(v)} < \frac{u}{v},$$

holds for $0 < u \leq v$.

Proof. The first term of the series $S = \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!}$ (when $n = 0$) is

$$\frac{z^1}{1 \cdot 1!} = z.$$

Therefore, we can express the series S as follows:

$$S = z + \sum_{n=1}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!}.$$

Note that, for all $n \geq 1$ and $z > 0$, we have

$$z^{3n+1} > 0, \quad (3n+1) > 0, \quad (3n+1)! > 0.$$

Therefore, we get

$$\frac{z^{3n+1}}{(3n+1)(3n+1)!} > 0,$$

implying that

$$\sum_{n=1}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} > 0.$$

Hence, we deduce that

$$S = z + \underbrace{\sum_{n=1}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!}}_{>0} > z + 0 = z.$$

Hence, by Definition 2.2, we have

$$Hi_{3-1}(z) = \int_0^1 \frac{H_{3-1}(zt)}{t} dt = \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} > z.$$

So, we get

$$Hi_{3-1}(u) + Hi_{3-1}(v) > u + v.$$

The monotonicity property of the function $\frac{Hi_{3-1}(z)}{z}$, implies that

$$\frac{Hi_{3-1}(u)}{u} < \frac{Hi_{3-1}(v)}{v}.$$

So, we obtain

$$\frac{Hi_{3-1}(u)}{Hi_{3-1}(v)} < \frac{u}{v}.$$

□

Theorem 2.4. *The inequality*

$$Hi_{3-2}(u) + Hi_{3-2}(v) > u^2 + v^2,$$

holds for $u, v > 0$ and the inequality

$$\frac{Hi_{3-2}(u)}{Hi_{3-2}(v)} < \frac{u}{v},$$

holds for $0 < u \leq v$.

Proof. The first term of the series $S = \sum_{n=0}^{\infty} \frac{z^{3n+2}}{(3n+1)(3n+1)!}$ (when $n = 0$) is

$$\frac{z^2}{1 \cdot 1!} = z^2.$$

Therefore, we can express the series S as follows:

$$S = z^2 + \sum_{n=1}^{\infty} \frac{z^{3n+2}}{(3n+1)(3n+1)!}.$$

Note that, for all $n \geq 1$ and $z > 0$, we have

$$z^{3n+2} > 0, \quad (3n+1) > 0, \quad (3n+1)! > 0.$$

Therefore, we get

$$\frac{z^{3n+2}}{(3n+1)(3n+1)!} > 0,$$

implying that

$$\sum_{n=1}^{\infty} \frac{z^{3n+2}}{(3n+1)(3n+1)!} > 0.$$

Hence, we deduce that

$$S = z^2 + \underbrace{\sum_{n=1}^{\infty} \frac{z^{3n+2}}{(3n+1)(3n+1)!}}_{>0} > z^2 + 0 = z^2.$$

By Definition 2.2, we have

$$Hi_{3-2}(z) = \int_0^1 \frac{H_{3-2}(zt)}{t^2} dt = \sum_{n=0}^{\infty} \frac{z^{3n+2}}{(3n+1)(3n+1)!} > z^2.$$

Thus, we get

$$Hi_{3-2}(u) + Hi_{3-2}(v) > u^2 + v^2.$$

The monotonicity property of the function $\frac{Hi_{3-2}(z)}{z}$ implies that

$$\frac{Hi_{3-2}(u)}{u} < \frac{Hi_{3-2}(v)}{v}.$$

Hence, we obtain

$$\frac{Hi_{3-2}(u)}{Hi_{3-2}(v)} < \frac{u}{v}.$$

□

Theorem 2.5. For $1 \neq z > 0$, the inequality

$$Hi_{3-1}(z) + Hi_{3-1}(1/z) > 2 \int_0^1 \frac{H_{3-1}(t)}{t} dt \cong 2.02089,$$

holds.

Proof. Let $P(z) = Hi_{3-1}(z) + Hi_{3-1}(1/z)$. So, by Example 2.4, we get

$$P'(z) = Hi'_{3-1}(z) - \frac{1}{z^2} Hi'_{3-1}(1/z).$$

Thus,

$$\begin{aligned} zP'(z) &= H_{3-1}(z) - H_{3-1}(1/z) \\ &\implies \\ z &\in (0, 1) \implies zP'(z) < 0 \\ z &\in (1, \infty) \implies zP'(z) > 0. \end{aligned}$$

Consequently, $P(z)$ is decreasing on $(0, 1)$ and increasing on $(1, \infty)$.

Therefore, the following inequality is valid:

$$Hi_{3-1}(z) + Hi_{3-1}(1/z) = P(z) > P(1) = 2 \int_0^1 \frac{H_{3-1}(t)}{t} dt \cong 2.02089.$$

□

Theorem 2.6. For $z > 0$, the following inequality is valid:

$$\frac{5z}{6} + \frac{H_{3-0}(z) - 1}{z^2} < Hi_{3-1}(z) < 3\left(\frac{H_{3-0}(z) - 1}{z^2}\right).$$

Proof.

$$\begin{aligned}
& Hi_{3-1}(z) - 3\left(\frac{H_{3-0}(z) - 1}{z^2}\right) \\
&= \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} - 3 \sum_{n=1}^{\infty} \frac{z^{3n-2}}{(3n)!} \\
&= \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} - 3 \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3(n+1))!} \\
&= \sum_{n=0}^{\infty} \left[\frac{1}{(3n+1)(3n+1)!} - \frac{3}{(3(n+1))!} \right] z^{3n+1} \\
&= \sum_{n=0}^{\infty} \left[\frac{1}{(3n+1)} - \frac{1}{(3n+2)(n+1)} \right] \frac{z^{3n+1}}{(3n+1)!} < 0.
\end{aligned}$$

Also, we have

$$\begin{aligned}
& \frac{5z}{6} + \frac{H_{3-0}(z) - 1}{z^2} - Hi_{3-1}(z) \\
&= \frac{5z}{6} + \sum_{n=1}^{\infty} \frac{z^{3n-2}}{(3n)!} - \sum_{n=0}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} \\
&= \frac{5z}{6} + \frac{z}{6} - z + \sum_{n=2}^{\infty} \frac{z^{3n-2}}{(3n)!} - \sum_{n=1}^{\infty} \frac{z^{3n+1}}{(3n+1)(3n+1)!} \\
&= \sum_{n=2}^{\infty} \frac{z^{3n-2}}{(3n)!} - \sum_{n=2}^{\infty} \frac{z^{3n-2}}{(3n-2)(3n-2)!} \\
&= \sum_{n=2}^{\infty} \left[\frac{1}{(3n-1)(3n)} - \frac{1}{(3n-2)} \right] \frac{z^{3n+1}}{(3n-2)!} < 0.
\end{aligned}$$

Thus, the proof is completed. □

Example 2.7. The following identities about the derivations of Hi are valid:

$$\begin{aligned}
Hi_{4-i}(z) &= \int_0^1 \frac{H_{4-i}(zt)}{t^i} dt, i = 1, 2, 3, \\
Hi_{4-1}^{(1)}(z) &= \int_0^1 H_{4-0}(zt) dt, \\
Hi_{4-1}^{(2)}(z) &= \int_0^1 t H_{4-2}(zt) dt, \\
Hi_{4-1}^{(3)}(z) &= \int_0^1 t^2 H_{4-1}(zt) dt.
\end{aligned}$$

Also, we have

$$\begin{aligned}
Hi_3^{(1)}(z) &= \int_0^1 H_{3-0}(zt) dt = \frac{H_{3-1}(z)}{z}, \\
Hi_3^{(2)}(z) &= \int_0^1 t H_{3-2}(zt) dt = \frac{H_{3-0}(z)}{z} - \frac{1}{z} \int_0^1 H_{3-0}(zt) dt \\
&= \frac{H_{3-0}(z)}{z} - \frac{H_{3-1}(z)}{z^2}, \\
Hi_3^{(3)}(z) &= \int_0^1 t^2 H_{3-1}(zt) dt \\
&= \frac{H_{3-2}(z)}{z} - \frac{2H_{3-0}(z)}{z^2} - \frac{H_{3-1}(z)}{z^3}.
\end{aligned}$$

3. COUNTEREXAMPLE

In this section, we plan two examples to show that the following theorem of paper in [6] is not always true.

Theorem 3.1. [6] *Let $z > 0$ and $\lambda \in (0, 1)$. Then the inequality*

$$Shi(\lambda z) > \lambda Shi(z), \quad (3.1)$$

holds. If $\lambda > 1$, then

$$Shi(\lambda z) < \lambda Shi(z), \quad (3.2)$$

where, $Shi(z) = \int_0^z \frac{\sinh(t)}{t} dt$.

Example 3.1. If we choose $z = 1$ and $\lambda = 5$, then, we have

$$Shi(5) - 5 Shi(1) = \int_0^5 \frac{\sinh(t)}{t} dt - 5 \int_0^1 \frac{\sinh(t)}{t} dt \cong 14.807.$$

That is,

$$Shi(5) > 5 Shi(1).$$

This inequality contradicts the inequality in (3.2).

Example 3.2. If we choose $z = 2000$ and $\lambda = 0.001$, then we have,

$$Shi(2) - 0.001 Shi(2000) = \int_0^2 \frac{\sinh(t)}{t} dt - 0.001 \int_0^{2000} \frac{\sinh(t)}{t} dt \cong -9.707806 \times 10^{861}.$$

That is,

$$Shi((0.001) \times 2000) < 0.001 Shi(2000).$$

This inequality is a contradiction with the inequality in (3.1).

Acknowledgements. We would like to thank the reviewers for their thoughtful comments and efforts towards improving our manuscript.

REFERENCES

- [1] A. H. Ansari, X. Liu, V. N. Mishra, *On Mittag-Leffler function and beyond*, Nonlinear Sci. Lett. A, **8**(2) (2017), 187–199.
- [2] A. H. Ansari, S. Maksimovic, L. Guran, M. Zhou, *Nested functions of type supertrigonometric and superhyperbolic via Mittag-Leffler functions*, Ser. A: Appl. Math. Inform. and Mech., **15**(2) (2023), 109–120.
- [3] B. Arpad, E. Neuman, *Inequalities involving generalized Bessel functions*, J. Inequal. Pure and Appl. Math., **6**(4) (2005), Art No. 126, 1–9.
- [4] K. Demir Budak, M. Gürbüz, *Modified exponential trigonometric convex functions and some integral inequalities*, Turkish J. Inequal., **8**(2) (2024), 60–72.
- [5] W. H. LI, B. Guo, *Several sharp inequalities involving (hyperbolic) tangent, tanc, cosine and their reciprocal*, Mathematica Slovaca, **74**(2) (2024), 1433–1444.
- [6] K. Nantomah, *Some analytical properties of the hyperbolic sine integral*, Math. Anal. Contemp. Appl., **6**(1) (2024), 1–14.
- [7] K. Nantomah, E. Prempeh, *Some Inequalities for Generalized Hyperbolic Functions*, Moroccan J. Pure and Appl. Anal., **6**(1) (2020), 76–92.
- [8] S. H. J. Petroudi, A. H. Ansari, C. Park, *Generalized nested functions and some generalizations of Wilker and Huygen's inequalities*, Int. J. Appl. Math., **37**(5) (2024), 559–575.
- [9] S. H. J. Petroudi, C.I Park, A. H. Ansari, A. Dasdemir, *Nested functions on some generalizations of Wilker and Huygen's inequalities*, 2024. (**preprint**)
- [10] I. Pinelis, *L'hospital type rules for monotonicity, with applications*, J. Inequal. Pure Appl. Math., **3**(1) (2002), Art No. 5, 1–5.
- [11] B. Ravi, A. V. Laxmi, *Subadditive and completely monotonic properties of the Tricomi confluent hypergeometric functions*, Int. J. Adv. Math., **5** (2018), 25–33.
- [12] X. J. Yang, *An introduction to hypergeometric, supertrigonometric and superhyperbolic functions*, Academic Press Elsevier, 2021.

¹DEPARTMENT OF MATHEMATICS,
PAYAME NOOR UNIVERSITY,
TEHRAN, IRAN
Email address: petroudi@pnu.ac.ir

²RESEARCH INSTITUTE FOR CONVERGENCE OF BASIC SCIENCE,
HANYANG UNIVERSITY,
SEOUL 04763, KOREA
Email address: baak@hanyang.ac.kr

³DEPARTMENT OF MATHEMATICS,
KARAJ BRANCH, ISLAMIC AZAD UNIVERSITY,
KARAJ, IRAN

⁴DEPARTMENT OF MATHEMATICS AND APPLIED MATHEMATICS,
SEFAKO MAKGATHO HEALTH SCIENCES UNIVERSITY,
GA-RANKUWA, PRETORIA, MEDUNSA-0204, SOUTH AFRICA
Email address: mathanalsisamir4@gmail.com

⁵DEPARTMENT OF MATHEMATICS,
PAYAME NOOR UNIVERSITY,
TEHRAN, IRAN
Email address: analsisamirmath2@gmail.com